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1.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘l was
PLEASED to see her complete the work within the stipulated time’?

(a) Delighted

(b) Anxious

(c) Agreed

(d) Annoyed

2.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘The
earthquake affected areas were in a PITIABLE condition’?

(a) Pleasing

(b) Ecstatic

(c) Commendable

(d) Satisfactory

3.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘It
was indeed PIQUANT to see the war-torn areas’?

(a) Insipid

(b) Stinging

(c) Pungent

(d) Distressing

4.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘I
cannot expect any REWARD for this act’?

(a) Prize

(b) Punishment

(c) Medal

(d) Condemnation

5.
Which one of the following parts of the sentence ‘It would be exciting to canoe in the river’, has an
error?

(a) It would be exciting

(b) to canoe in

(c) theriver

(d) no error



6.
Which one of the following parts of the sentence ‘You couldn’t give me a hand with this, wouldn’t
you?’, has an error?

(a) You couldn’t give me

(b) a hand with this

(c) wouldn’t you?

(d) no error

7.
Which one of the following parts of the sentence “ ‘You had better not left your car unlocked’, said
my friends “, has an error?

(a) You had better not left

(b) your car unlocked

(c) said my friends

(d) no error

8.
Which one of the following parts of the sentence ‘It’s not fair to expect her to do all the cooking
herself when she had had no training or experience’, has an error?

(a) It’s not fair to expect her to do

(b) all the cooking herself

(c) when she had had no training or experience

(d) no error

9.
Which one of the following is the exact meaning of the phrase / idiom written in capital letters in the
sentence ‘He has inherited a GROWING CONCERN’?

(a) A serious disease

(b) A mentalillness

(c) A well run business

(d) None of these

10.
Which one of the following is the exact meaning of the phrase / idiom written in capital letters in the
sentence ‘l don’t like to take anything from you AGAINST THE HAIR'?

(a) Because | am not your heir

(b) Without pleasure

(c) Without my natural rights

(d) Without your will

11.
Which one of the following is the exact meaning of the phrase / idiom written in capital letters in the
sentence ‘These atrocities cannot go on unchecked; one has TO DRAW A LINE somewhere’?

(a) To put a limit or restriction

(b) To learn drawing

(c) To come to an agreement

(d) To learn painting



12.
Which one of the following is the exact meaning of the phrase / idiom written in capital letters in the
sentence ‘The fate of the satellite HANGS IN THE BALANCE’?

(a) Decided

(b) Undecided

(c) Being weighed

(d) Certain

13.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Biofeedback, a branch of modern medicine HARNESSES brain power to bring about healing’?
(a) Exhausts
(b) Depletes
(c) Utilizes
(d) Supports

14.
Which one of the following is the synonym of the word written in capital letters in the sentence ‘The
regular DISCORD between the management and the staff led to unrest on the campus’?

(@) Unanimity

(b) Contention

(c) Disapproval

(d) Betrayal

15.
Which one of the following is the synonym of the word written in capital letters in the sentence ‘Her
FACULTY to deal with all the challenges of life has made her what she is today ’?

(a) Desire

(b) Subject

(c) Aptitude

(d) Incompetence

16.
Which one of the following parts of the sentence ‘I did not wait because he had gone out before |
reached his place’, has an error?

(a) Idid not wait

(b) because he had gone out

(c) before | reached his place

(d) no error

17.
Which one of the following words can be used as a substitute for the phrase ‘Pathological fear of high
places’?

(a) Ablutophobia

(b) Agyrophobia

(c) Acousticophobia

(d) Acrophobia



18.
Which one of the following words can be used as a substitute for the phrase ‘A stage of growth
between boyhood and youth’?

(a) Adolescence

(b) Unripe

(c) Underdeveloped

(d) Immature

19.
Which one of the following words can be used as a substitute for the phrase ‘One who studies history
relating to the development of human race from old stone ages’?

(a) Historian

(b) Museologist

(c) Anthropologist

(d) Etymologist

20.
Which one of the following words can be used as a substitute for the phrase ‘Something that is
needle shaped’?

(a) Sharpened

(b) Acerose

(c) Steep

(d) Dumsy

21.
Which one of the following rights is NOT included in the Constitution of India under the Right to
Freedom (Article 19)?

(@) Right to freedom of speech and expression

(b) Right to assemble peaceably without any arms

(c) Right to reside and settle in any part of the territory of India

(d) Right to hold and dispose of property

HRA & HAU H FAT AUDHR & Hcd (37e0c 19) eiaf@a & & e ar
FwR afEafad 787§ 2

(a) @t TaTasg 3R ffcafFa-rardsg &1 ¥R

(b) enfaq@der 3R PRIGY FeEdee &1 3fRsR

(c) AR & T=IET & fohell HET 7 e e 3R 99 I &1 31fRaER

(d) "9fed & YROT 3R I H1 AHHR




22.
Which one of the following is NOT included in the Fundamental Duties enshrined in the Constitution
of India?

(a) To develop the scientific temper, humanism and the spirit of inquiry and reform

(b) To safeguard public property and to abjure violence

(c) To maintain just and honourable relations between nations

(d) To uphold and protect the sovereignty, unity and integrity of India

fArfaf@d & & i @1 Th, AR & d@iaue &7 gidsoia H{el edl # GiFATId 787
g2

(a) deTTolen TTREERIOT, AadlE AR AATSIT TAT UR S AT & [ el

(b) Ardsifaieh Fafed T G W= AR Ear & gy @l

(c) Tregt & i FATEIT 3R FEARTYOT Tl §ATT TG

(d) $IReT T eI, TehelT 3 3r@ST T 8T AT AR 3H 3HBI00T TGl

23.
Which one of the following is NOT a qualification for election as President of India?
(a) Being a citizen of India
(b) Being a member of either House of Parliament
(c) Being at least thirty-five years old
(d) Not holding any office of profit under the Government of India

RT FT Tseufa FaiRa g & fow, Aafef@a & @ #ia & v 3gar 778 »
(a) HRA T ARIRSG Blell
(b) O o Rl TGsT T TG gl
(c) ®HF & &\ Ui a¥ & 3 FT gl

(d) 9IRT TWHR & FT IS AH FT U UROT o T
24,
The Supreme Court of India consists of the Chief Justice and:

(a) 26 Judges.

(b) 29 Judges.

(c) 28 Judges.

(d) 22 Judges.

HRA FT ITUTH AT, 7T I 3R fohcel 30T =Rl § Aol X aeIdr § ?
(a) 26 =gTTEITET
(b) 29 FTATERLT
(c) 28 =gTaTedTer
(d) 22 =gTaTEsTer




25.
The Constitution of India formally vests all the executive powers of the Government in the:
(a) President.
(b) Prime Minister.
(c) Council of Ministers.
(d) Prime Minister and the Council of Ministers.

RA FT Ffaurd TWeR T Tt FRIafeer afed o fhas [ sar § 2
(a) TrSgafd
(b) TEITeT FHAT
(c)ﬁﬁ-qm
(d) wereT AT AR AMN-gRwe

26.

The ‘Hind Swaraj’ was written by:
(a) B G Tilak.
(b) Surendranath Bannerjee.
(c) M K Gandhi.
(d) Jawaharlal Nehru.

g Tatrer fohaer fordr o »
(a) o S faer
(b) LAY TSt
(c) T o e
(d) STATgYellel SAg®

27.
In India seats are reserved for women in:
(a) Rajya Sabha.
(b) State Legislative Assemblies.
(c) Union Cabinet.
(d) Panchayati Raj Institutions.

HRT H ARG & o0 TUAT &7 3REToT vy H g ?
(a) ToT THT &
(b) T TaureT Fem3it &
(c) §G & HARFHASST H
(d) TITIAT T FEATHT H



28.
Which one of the following statements about the National Knowledge Network (NKN) is NOT correct?
(a) The NKN is implemented by NIC
(b) It aims to interconnect all knowledge institutions across the country through high-speed data
communication network
(c) It aims to encourage sharing of resources and collaborative research
(d) It aims to expand the network to share resources globally

T AT Acad (NKN)&F dR H AFTai@d & & Pl T U HUT Hel 787 & ?
(a) NKN &I &rileadsl NIC EaRT BTl &
(b) SHHT ofeT R <A H T AT HEA3 T g Ged HUR STeA o ATEIH T RER
g T B
(c) SHHT T&T FHTLAT T FEHTENAT IR FEAWMcHS T P AcHTd T §
(d) SHPT JT&T FHTUAT I FTAHH TEHAAr & [T Acas FT [FEAR =T &

29.
Which one among the following is NOT a Maharatna company?
(a) Bharat Heavy Electricals Limited
(b) Coal India Limited
(c) Indian Qil Corporation Limited
(d) Qil India Limited

fTfaf@a & & oia O e, AGReA FUer 7@ g ?
(a) AR gdl soifdcahed fafAcs
(b) T 3f3aT fAfACes
(c) 3f3TeT 3iT¥ar IR fafAes
(d) 3ae sfzar ffdes

30.
Which one of the following is NOT an outcome of the Supreme Court’s decision in the Lily Thomas Vs.
Union of India & Others case (2013)?
(a) Section 8(4) of the Representation of the People Act is unconstitutional
(b) Any MP or MLA who is convicted of a crime and awarded a minimum of two years
imprisonment loses membership of the House with immediate effect
(c) The ruling of the Court was prospective
(d) Those who appeal against their conviction within three months will be exempted from
disqualification



ffof@a & & 39 a1 v, Ol 97w 993 9RT ¥9 TaH 30 & dIG (2013) &
3TIdH AT & fafaeaa &1 Ay a7 & 2

(a) oer vfafafcT rRARTH i arr 8(4) 3@ &

(b) IS TG, TETT 37U U FHT Heed, g W fondll 3rqrer & awfdg & 3R
S foIT & & & o aul & SREE F IFAHEOT fhar 37 §, doprer 9979 &
el T TE&IdT @ &l &

(c) =TT 1 JAfavTy wfasgerel ar

(d) S 3= A-RAfY F faeg e A & iR e aa €, 3% éar & o A
Sirae

31.
Which one of the following is NOT true of the post World War global trading system?
(a) GATT was signed in 1947
(b) GATT was a forum for trade negotiations among contracting parties
(c) WTO replaced GATT as an interim forum
(d) The Headquarters of WTO is located in Geneva

fAetfaf@d & @ HlT a1 vk, faeg gg & a1 i faeg AUR gomell & SR & T@&r A7 &2
(a) GATTT 1947 H gEATER gv
(b) GATT HfdETerY &l & o AR ardi3il &1 Ha (HRA) o1
(c) WTOS GATT @I 3dRHA HI & &7 & giaeuridd faar
(d) WTO T HEITI Siidl # & &

32.
The United Nations held its first official conference on Women in 1975 at:
(a) Beijing.
(b) Nairobi.
(c) Copenhagen.
(d) Mexico City.

I TSE o 1975 # ARSI & AT W 9T Igell 3MARIRP FEAA gl fhar ar ?
(a) STSTeT &
(b) &Y #

(c) PIAGIT H
(d) AfFTer @ &

33.

Which one of the following statements about the United Nations Security Council is NOT correct?
(a) In 1965 the Security Council was enlarged from 11 members to 15 members
(b) The non-permanent members of the Security Council are elected for a term of five years
(c) Abstention by a permanent member is not regarded as a veto
(d) The decisions of the Security Council are binding



g TSE GI&T UR¥e & R H [@=fafld & @ #ld a1 0 HuT & 787 & ?
(a) 1965 FI&T IRWe 11 HGEAT § fIFART FX 15 HEHAT & T & 18
(b) FIET TRYE & IFARN FeFT 9T a¥ ¥ 39l F e FaiRa o §
(c) fordT TRl Teeg & AT o ot &r dier =Igl AT SITdT
(d) FR&T IRwe & AU AR §

34,
The Global Commons are understood as areas and resources that do not fall under sovereign
jurisdiction. Which one of the following CANNOT be considered a Global Common?

(a) The high seas and deep ocean floor beyond the exclusive economic zone

(b) Antarctica

(c) Outer space

(d) The Arctic Circle

TGSl HIHH BT 3o &1 AR G & & H FHS ST § S T Tee ITRehriar
F 3dId AeT 3 | i@ & O 59 v Ft TGS PIEA 7p] AT ST FehdT ?
(a) 3eTeg 3T &1 & I HerEHg 3R MR HEEER Hclg
(b) UeTehfeenT
(c) STET FHaReT
(d) 3Thicah Tsh

35.
Which one of the following is NOT listed as a Millennium Development Goal?
(a) Reduction of child mortality
(b) Ensuring environmental sustainability
(c) Achieving universal primary education
(d) Peaceful co-existence of nations

[AFAff@d # @ &l &1 T, WgHlisq Ay 8T & &0 A gAlag 76 o ?
(a) STl FcG & H FeAT
(b) THTERUTT YRUTIAT AR e
(c) Trasitsr urafAe A& Iucsy LT
(d) Trsgt T LMTqoT He-31dca



36.
Which one of the following does NOT form a part of the right to equality under the Constitution of
India?

(a) Abolition of untouchability

(b) Equality of opportunity in public employment

(c) Equality before law and equal protection of the law

(d) Right to education

fof@d & & Sl @1 th, IRT & dfausT & 3t GFar & IFER &1 Gear 767 &2
(a) 3TEGRACT HT 37
(b) olteh AT & 319ET T FHAT
(c) Tafr & T#eT gHAGT 3R fAfr &1 FA axeor
(d) ferem &1 ¥R

37.
Which one of the following Committees on Minimum Alternative Tax (MAT) was constituted
recently?

(a) Vijay Kelkar Committee

(b) B N Navalawala Committee

(c) AP Shah Committee

(d) Ajay Shankar Committee

LAdH dhfods F (MAT) W gl & & eafaf@d & @ fra v afdfa &1 aoa fmar
AT AT ?

(a) TaoTT Fere wfAfT

(b) & TsT Agemarem AfATT

(c) T o e @fAfa

(d) 31T eART FIATA

38.
During June 2015, India’s Mars Orbiter Mission ‘Mangalyaan’ had a communication break with the
ISRO Scientists for about a fortnight. Which of the following statements with regard to that is / are
correct?
1. The communication break occurred due to the positioning of Earth, the Sun and Mars
aligning themselves in one line
2. The Sun disrupts the radio transmissions between the two planets during the alignment
3. During this period the Mangalyaan could not take any decision as there was no signal from
ISRO
Select the correct answer using the code given below:

(a) 1,2and 3
(b) 1 only

(c) 2and 3 only
(d) 1 and 2 only



ST 2015 & NIl 9IRd & Harel AT fAT ‘Herordrer &7 ISRO & A=Al & A
SIETHIT Udh J@Als deh TR HIT g 11 U1l 88 aR A fAeafaf@d & & #ia anvd sy
ey Ble?

1. I8 HIR-5T 2fl, FF AR Al & UF @ A WRAT g1 A FAf & Hror g3m

2. 3H WWUT & NI, I o7 alell gl & ora WSA-FAR 97 & ST &

3. 39 3 & R Horeaaa g AU FET o Thr FAIH ISRO F IS Tehd 8T oTey

A7

ARy QU %e &1 AT H FE 3ccR AT -

(a) 1,2 3R 3

(b) Shdel 1

(c) shder 2 3R 3

(d) shaer 13K 2

39.
Which one of the following multi-sectoral development programmes for minorities for upgrading
skills and training in preservation of traditional ancestral arts / crafts was launched recently?

(a) Hamari Dharohar

(b) Nai Manzil

(c) USTAAD

(d) Nai Umeed

HeUHETH! & TIT IRINE ool Hol3il/fRAedl & TETOT H Hierel & Jooidel T FiRAGTOT
8 el sg-a1ae fasra FrEAHAT 7 § Pl 1 U, gl & F IR fobar aram 2
(a) EHART ERIBT
(b) 7T$ HiGeT
(c) 3ETE (USTAAD)
(d) TS 35

40.
In May 2015, the Supreme Court of India issued guidelines on regulating government advertisements.
According to the guidelines, photographs of who among the following can NOT feature in the
advertisements released by the State and Central Government departments?

(a) Chief Minister

(b) Prime Minister

(c) President

(d) Chief Justice of India



AS 2015 H, R & 3TTdH AT o TR A« & R_faafaa s & o
AeRlt gl SR 7T | o1 [@gial & 3aR , Fefaf@a & @ s Bl I
AR HET WER & et garr Sl fve av st J 787 3 gad 2

(a) F&T AT

(b) eITeT FHAT

(c) Iregafa

(d) R T HET =l

41.
In the year 2015, which one among the following football teams won I-League title of football?
(a) Salgaocar FC
(b) East Bengal
(c) Bengaluru FC
(d) Mohun Bagan

ay 2015 &, AT # @ 6T Th Peard T o Pedld &I 1-oller ersfeer St ?
(a) ETIMINHT FC

42.
Which one of the following statements with regard to Pradhan Mantri Suraksha Bima Yojana is NOT
correct?

(a) The yearly premium is Rs. 12

(b) It is available to all savings bank account holders in the age group of 18 to 50 years

(c) It has accidental death and disability cover of Rs. 2,00,000

(d) There is a provision of payment of Rs. 1,00,000 for partial permanent disability

T FHAT GIET o1AT Aot o aR & A=Al & & @led a1 Toh HyT TEr 77 ¢ ?
(a) AT NfATHT T.12 &
(b) I§ 18H 50TV & IY-HHE & T I WIdT YR HI 3UeIsY §
(c) 3TH MHEAS FY IR fAAFAAT F AT %.2,00,000 H HAHT TR &
(d) 3 AR FARRY fA:rFAdr & AT %.1,00,000% AT HT YIGeeT g



43,
During the recent visit of the Prime Minister of India to China, agreements were signed on
establishment of sister cities between India and China. Which one among the following was NOT one
of them?

(a) Chennai and Chongging

(b) Guwahati and Kunming

(c) Hyderabad and Qingdao

(d) Aurangabad and Dunhuang

R & TETeT HIAT I gl I AT TN & I, ARG 3R O & &g e [Bde
TATT el & PRI Wswlwg@%lﬁﬁlﬁl@?rﬁﬁaﬁﬂmwﬁﬁﬂﬁﬁ?
(a) Doy 3T TTeTTRAT
(b) I[ETETET 3R FeAfHaT
(c) gereTe 3R faerera
(d) 3RETSTE 3R g=TgTeT
44,
The Constitution of India (100th Amendment) Act, 2015 deals with:
(a) Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and
Resettlement.
(b) Motor Vehicles.

(c) Land Boundary Agreement between India and Bangladesh.
(d) Mines and Minerals.

9RT 1 gfaenT (100 ar gneeT) fafaae, 2015 fFaq gafaa § 2
(a) A 3fieT, YordrEel 3R efedaeurasd & 3faa gfdew 3R gReRiar &1 #fter
(b) HIET aTgeT
(c) R 3N SoeTeRr & = A AT R
(d) @ 3R @fas

45,
Who among the following won the 2015 French Open Men’s Singles title?
(a) Rafael Nadal
(b) Novak Djokovic
(c) Stan Wawrinka
(d) Roger Federer

fArafef@d & & fFaa 2015 7 T 3NTA GBIV Tehel TTsfeel SHIAT 2
a) Uthel sAgTel

b) sitare SeRifaa

c) TCTT arafepr

(
(
(
(d) TSR HSW



46.
Who among the following was conferred with the ‘Bangladesh Liberation War Honour’ recently?
(a) Narendra Modi
(b) Atal Bihari Vajpayee
(c) Sonia Gandhi
(d) Ajit Doval

fArfaf@d & @ fhasr grel & & ‘S AP Ig TFAT Tl fohar arm 2
(a) LG AT
(b) 3icer fogRY areradr
(c) aferar el
(d) 31T SYHT

47.
The rate of the Service Tax is changed with effect from 1.6.2015. What is the present rate of Service
Tax in India?

(a) 12.36%

(b) 13.26%

(c) 14%

(d) 15%

1.6.20151#@3Taw—{aﬁra1ﬁtrﬁaé?r§3ﬂ%|am?r£r@|aTaw£rqc‘mmaTcuu%?

(a) 12.36%
(b) 13.26%
(c) 14%
(d) 15%

48.
Who among the following Indian umpires was inducted into the Elite Panel of ICC Umpires for the
year 2015-167

(a) Sundaram Ravi

(b) Subroto Das

(c) Shashank Ranade

(d) Krishnamachari Srinivasan

rafaf@d 7 & FH #RAT 3R & a¥ 2015-16 & o 1CC 3FIRRT & fAfdse dar
H forar mr g 2

(a) GexAA I

(b) FsiTal &g

(c) erereh ITeTs

(d) FSOTATIRT AfareeT



49.
Which one of the following teams won the 2015 UEFA Champions League title?
(a) Juventus
(b) Barcelona
(c) Real Madrid
(d) Arsenal

Aff@d # & ST AT T S o 2015 UEFA ATF9IE ofler ergfed Siiar ?
(a) gacH
BEIGEIGH

(c) W #AfSs
(d) 3ATer

50.
Which one of the following was the name of the relief operation in Nepal carried out by Government
of India and Indian armed forces in the aftermath of earthquakes in Nepal in April-May 20157
(a) Operation All Out
(b) Operation Surya Hope
(c) Operation Maitri
(d) Operation Good Samaritan
fAefaf@d & & i @1 Th, 30-AS 2015 H ATl H 3T el & &G ATl H ARA
WHR R ARSI AU Tl GaRT HI 718 Ted dRars (Relih HTORUA) F AT 27 ?
(a) HTURRAT 3Tl 33T
(b) TR FF g1
(c) 3T AT
(d) 3HTRRIE 95 FHARE




51.
The following Table shows the number of students in Primary level (Class-I to Class-V) and
Middle level (Class VI-Class VIII) from 2009-10 to 2013-14:

Year Primary level (in Lakh) Middle level (in Lakh)
2009-10 1356 594
2010-11 1353 621
2011-12 1371 619
2012-13 1348 649
2013-14 1324 665

In which one of the following years, there is maximum decrease in the number of students
from Primary level to Middle level?

(a) 2009-10
(b) 2010-11
(c) 2011-12
(d) 2012-13

SR & a8 AR 2009-10 & 2013-14 do YrAfAE TR (FET-1 T FeT-v) 3R
ATEATAT T (& VI-HET ViIl) & Feanfiar i gear geidr §

ay qrAfAe TR (@ #H) ATETHS TAX (TG #H)
2009-10 1356 594
2010-11 1353 621
2011-12 1371 619
2012-13 1348 649
2013-14 1324 665

farafaf@a # & g to a¥ A, gufas & & Areafas & & Aefiar @
T&Ir 7 3fhad Har 3 ?

(a) 2009-10
(b) 2010-11
(c) 2011-12
(d) 2012-13



52.
The following Table shows the number of students in Primary level (Class-I to Class-V) and
Middle level (Class VI-Class VIII) from 2009-10 to 2013-14:

Year Primary level (in Lakh) Middle level (in Lakh)
2009-10 1356 594
2010-11 1353 621
2011-12 1371 619
2012-13 1348 649
2013-14 1324 665

In which one of the following years, there is minimum decrease in the number of students
from Primary level to Middle level?

(a) 2009-10
(b) 2010-11
(c) 2011-12
(d) 2013-14

SR & a8 AR 2009-10 F 2013-14 do YrAfAE TR (FET-I T FeT-v) 3R
ATEATAT T (& VI-HET ViIl) & eanfdiar i gear geidr §

ay qrafAe TR (T #H) ATETHS TAX (g #H)
2009-10 1356 594
2010-11 1353 621
2011-12 1371 619
2012-13 1348 649
2013-14 1324 665

fArfaf@a # & e v av #, yufAs TR @ Areaf@s &R & St &

AT H 7geAdH HAT 317$?
(a) 2009-10
(b) 2010-11
(c) 2011-12
(d) 2013-14




53.
If a number is divided by 10, it leaves a remainder of 4. If thrice the number is divided by 5, then what
will be the remainder?

(a) 1

(b) 2

(c) 3

(d) 4

Ife foell FEam & 10 § fAfara fomar SiTe, ar Athel 4 @ & 131E 38 @&a1 & et

Fr 5 O Qfaa Far ST, ar ANBS FAT IR ?
(a) 1
(b) 2
(c) 3
(d) 4

54.
A class starts at 9:30 AM and lasts till 1:25 PM. After every period, there is a gap of 5 minutes. What is
the exact duration of each period, if there are four periods during the class?

(a) 50 minutes

(b) 55 minutes

(c) 60 minutes

(d) 52 minutes

IS el 9:30 JaTeal & X & A 1:25 IR oo doicl ¢ | Tedeh NRIs & g 5 Aete
HT FRT giar & | IfE 39 Fem & e IR 9IRTE gid &, af s diRas & -3
3af F7 § ?

(a) 50 fA=TC

(b) 55 AT

(c) 60 fA=C

(d) 52 fA=Te



55.
The following table shows the number of students admitted under various categories to

different programmes in a college:

B. Tech. M.Tech. M.Sc. Ph.D M.B.A.
General 200 100 50 100 180
OBC 54 27 18 27 49
SC/ST 45 23 12 22 41
Total 299 150 80 149 270

What is the percentage of students admitted to the M.Sc. programme in all the three
categories?

(a) 8.43%
(b) 7.89%
(c) 8.51%
(d) 8.62%

fArafaf@a arolt e Agifacared # Aed-ffed NATAT A v oo arel Affet
gadit & faeanfdat $r dear gafedr ¢

B. Tech. M.Tech. M.Sc. Ph.D M.B.A.
AT 200 100 50 100 180
OBC 54 27 18 27 49
SC/ST 45 23 12 22 41
ol 299 150 80 149 270

9

e i gaait & m.Sc. IRIA H 9w ot arer fagantdat & gfdera #ar § 2

(a) 8.43%
(b) 7.89%
(c) 8.51%
(d) 8.62%



56.
The following figure shows the number of students admitted to different programmes in a
college under various categories:

B. Tech. M.Tech. M.Sc. Ph.D M.B.A.
General 200 100 50 100 180
OBC 54 27 18 27 49
SC/ST 45 23 12 22 41
Total 299 150 80 149 270

What is the percentage of M.B.A. students (General category) in the total number of
students?

(a) 19.6%
(b) 20%
(c) 18.98%
(d) 20.5%

frafaf@a IRl et Agrfacarey & faffed daelt & 3add Fed-ee demAT
H gaer o arer aeanfar fr aear g §

B. Tech. M.Tech. M.Sc. Ph.D M.B.A.
HTATT 200 100 50 100 180
OBC 54 27 18 27 49
SC/ST 45 23 12 22 41
?»r 299 150 80 149 270
facanfdat & dar dear & mB.A & et (@ag Aoi) i gfderdar #ar g 2
(@) 19.6%
(b) 20%
(c) 18.98%
(d) 20.5%
57.
72 people complete a work in 36 days. If we use 48 people to complete the work, how many days will
they take?
(a) 50 days
(b) 52 days
(c) 54 days

(d) 56 days



72 egidd ThET I AT 36 el A QU A § 1T 67 S QU A & AT 48 it
H @MY, A 3 fhder & o 2

(a) 50 feeT

(b) 52 f&eT

(c) 54 fe=T

(d) 56 feeT

58.
In a college, one third of the total number of boys and one half of the total number of girls
participated in a social service work, out of which 90 were boys. Total number of students who
participated was 360. What is the total number of students in the college?

(a) 750

(b) 810

(c) 800

(d) 820

Tl HETfaeTTerg & Sel o Sl &I Uh-fgls TEAT IR Fol o 3okl &1 3mel Fear o
forely QTSR ar wR A a7 forar |, 98 90 ofssh & | 9T o arel Tzt dr fer
T 360 A | HETiderery & faeandat 1 do dear #ar § 2

(a) 750

(b) 810

(c) 800

(d) 820

59.
If two dice are thrown simultaneously, what is the probability of getting two numbers whose product
is even?

(a) 1/2

(b) 3/4

(c) 3/8

(d) 5/16

gie ar "l @l ATY-A1Y el ST, o AT &7 FEAI3T 1, fSeTehl I[UeTthel THETT &,

qre T grifierdr a7 ghefr ?
(a) 1/2
(b) 3/4
(c) 3/8
(d) 5/16



60.
Consider the following arrangement:
RD15E%K3JIOP8#G2BSKM6W@N4AT*7FH
How many such consonants are there in the above arrangement, each of which is
immediately preceded by a symbol and immediately followed by a number?

(a) 4

(b) 3

(c) 2

(d) 1

frfofaa fdeag W} faar fIfsv
RD15E%K3JI9P8#G2BSKM6W@NA4AT*7FH
3Fd o & fohaal T8 edote 8, od e & &1 ugel i et ¢ 3R

8 dI¢ PIg TE&IT § ?
(a) 4
(b) 3
(c) 2
(d) 1

61.
In a 200 metre race, M runs at a speed of 1.2 m/s. If M gives a start of 8 metre to S and still beats him
by 24 seconds, what is the speed of S approximately?

(@) 0.72 m/s

(b) 0.82 m/s

(c) 1.00 m/s

(d) 1.25m/s

200 FHEY T TS &5 7, M, 1.2m/s T afad F alzar & 13fE M, SFHr 8 FHeT $r 9geT ¢ar g

3R T o 24 8hs & 39 & &aT g, dr S T I1fa oTerdver &7 g ?

(@) 0.72 m/s
(b) 0.82 m/s
(c) 1.00 m/s
(d) 1.25 m/s

62.
Consider the following series:
H2,  ,F8,E16, __ ,C64,B128
Which of the following numbers should fill the blanks respectively?
(a) G4 and D32
(b) G4 and D16
(c) E4and D16
(d) E8 and D32



farafafaa 4ot ox fdar fifGw .
H2, _ ,F8,El6, _,C64,B128
It & & &l O gV Red TUEET S A qET ?
(a) G4 31T D32
(b) G4 31 D16
(c) E43iR D16
(d) E8 3iR D32

63.
A tank with a capacity of 10000 litres is empty. If water flows into the tank from pipe at the rate of
100 litres per minute and water is pumped out by another pipe at the rate of 50 litres per minute, in
how many minutes will the tank be filled?

(a) 3 hours 10 minutes

(b) 3 hours 20 minutes

(c) 2 hours 40 minutes

(d) 2 hours 50 minutes

10000 offeX I eTRar arell T chr @l § 1 IfE hr &F tah a8 § 100 NeX ufa BsTe
X F U AT &, 3R Uh g AT @ 50 ofieX 9fd [Aeie i e & grelr amg foepren
ST &, dr Ehr et fAeie & ol ?

(a) 3 e 10 fAaTe

(b) 3 EeT 20 fAsIe

(c) 2 &er 40 fAsTe

(d) 2 &eT 50 fFsTe

64.
R sold an article for Rs. 540 and incurred a loss of 10%. If the same article is sold for Rs.660, which
one of the following will be his profit percentage?

(a) 8%

(b) 15%

(c) 20%

(d) 10%

RS 1S AT ©.540 F 2l 3R 10% T Joharel 3o/ | i 38T A T . 660 H ST

ST, ' [FATai@d H & i AT Teh, 3TPT ot Ffaerddr e ?
(a) 8%
(b) 15%
(c) 20%
(d) 10%



65.
Ten points are marked on a straight line and eleven points are marked on another straight line (the
lines are non-intersecting and no points are common). How many triangles can be constructed with
vertices from among the above points?

(a) 495

(b) 550

(c) 1045

(d) 1330

Teh Tl 3T R ¢d fog 3ifehd & 3R q@dl @l Y61 W 7_Rg fog 3ifhd & R@T veh-
qaY 1 PIee 7 © 3R s §g s3afase ¢ §) 139w WGt 1 MY o gu fhae
Fefsr s=v o @ha € 2

(a) 495

(b) 550

(c) 1045
(d) 1330

66.
X 3 .
If v = =y then (X+3) : (Y+7) is equal to:

(@) 7:3
(b) 4:8
(c) 6:7
(d) 3:7

gfe é = %,HT(X+3):(Y+7)W WX & ?

(a) 7:3
(b) 4:8
(c) 6:7
(d) 3:7

67.
If A+ B means A is the sister of B; A x B means A is the wife of B; A % B means A is the father of B and
A - B means A is the brother of B, which one of the following means T is the daughter of P?

(a) P-Q%R+TxS

(b) PXQ%R-T+S

(c) PXQ%R+T-S

(d)P-Q%R+SxT

JREA+BR AT EF A BR TGT &;AxBFRT AT & F A BFr gl §; A% BHT 3T §
F A BH NAT g3 A-BI IT T F A B & #S § aF Aeafai@ad & ¥ fag tah &1
ITERET, PRI E 2

(@) P-Q%R+TxS

(b) PXQ%R-T+S

(c) PXQ%R+T-S
(d)P-Q%R+SxT



68.
If B is the son of D; D and R are sisters; Y is the mother of R and Q is the son of Y, which one of the
following statements is correct?

(a) Qand B are cousins

(b) Qis the maternal uncle of B

(c) Risthe maternal uncle of D

(d) D and Q are sisters

gie B, D & Y7 §; DR REEA &V, RHT AT § 3R Q v & 97 g, e=faf@ga & @
Pl AT Th HYA Tal & ?

(a) Q3R BTN &S &

(b) Q, B T ATAT §

(c) R,D &T HTHAT §

(d) D3R Qe gt §

69.
The number of MoUs signed by various central PSEs in different years and their performance
record are given below:

Year MoUs Performance Excellent Very Good Fair Poor
evaluated good

2010-11 197 162 67 44 24 25 2

2011-12 198 175 76 39 33 25 2

2012-13 197 190 77 38 37 36 2

In which year the performance record of MoUs can be considered as best provided only
excellent, very good and good performances are considered?

(a) 2011-12

(b) 2012-13

(c) 2010-11

(d) All these years have similar performance



3l hald PSEs GaNT fafdeed aul H gEATETRd MoUs 3T HE&AT 3R 3eTehl foisureet
FAE A &I I1=m §

ay MoUs fasdresl  3chse 9§ 37007 HTURT fagse
Hedifehd k)

2010-11 197 162 67 a4 24 25 2

2011-12 198 175 76 39 33 25 2

2012-13 197 190 77 38 37 36 2

MoUs & feistrest 3fele &l fhd a¥ # Hdfcadd AT SITUan, S dhdel 3chse,
agamaﬂimﬁwmwﬁrfaﬂwﬁvmm?

(a) 2011-12
(b) 2012-13
(c) 2010-11

(d) 5T el ast & gAE sue &

70.
The people belonging to Generation Y (Born after 1990) prefer to be independent, take on
challenging work, and have more risk taking ability. This makes them more entrepreneurial in nature.
Which one of the following best sums up the characteristics of Generation Y as narrated above?

(a) They are working harder than other generations

(b) They are more self directed

(c) They do not like subordination and want to work on their own

(d) They want to take jobs, which require higher level of risk

der v (1990 % aTe UeT §S) TTae glel Sl THe FA B, FAlNGOT FE I oA
3R a3 @A o= $r &TAaT § 1 586 FROT 9 TgAE: HF 3R § |
fAmfafad & @ i a1 v, qdry A1 suged [AATABIT F1 Fefedd TR TEIT HAT ¢ 2

(a) & 3T Nfedt A JoaTm H F1H A 3+ Agedd = W &

(b) & 39aTeha 31U Fa-Aefra §

(c) 3¢ 3TeNAdT Tde FAar 3R F Targedl & FT FIH T A6 &

(d) & TH HAT FI AT AR &, ToloTH 3TddR TR Bl SAEa f&T g




71.
In the context of materials management, MRP Il stands for:
(a) Materials Requirement Planning
(b) Market Resource Planning
(c) Manufacturing Resource Planning
(d) Method Requirement Planning

arEIY geeT & GcdT H, MRP 11T 31 a1 & ?
(a) TTHIAT ITETHAT AolaAT (HERTew Rearde carfsia)
(b) STSIR AU ATl (FAThe RA canfaam)
(c) faferor Fares Ao (Hegtheraler Raw cenfan)
(d) YUl 3TaRITSAT JIelal (HYUS ReFaradie carfaan)

72.
In the context of maintenance management, overall equipment effectiveness is measured as:

Quality Rate
Performance Efficiency + Availability

(a)

(b) Availability + Performance Efficiency + Quality Rate

Availability
Performance Efficiency + Quality Rate

(c)

(d) Availability X Performance Efficiency X Quality Rate
3TRETOT UEtel & Heey H, YU IUEH FHIahIRAT fohdd &9 & AT St & 2

(a) SIS
?) RrsuTee gaTaT+ 3eretar

(b) IUCTSErc + fAsUTEeT S&TAT + 0T &

ST
O —— T &%

(d) Terstrd X fasdTesT g&Tdr X IOTdr eX



73.
In the context of inventory management, which one of the following statements is correct?
(a) Carrying costs are linearly related to order size
(b) Ordering costs are linearly related to order size
(c) Carrying costs are linearly and non-linearly related to order size
(d) Ordering costs are linearly and non-linearly related to order size

AT 99T & TedT H HeIfoild YT § & HieT AT TP TEl g ?
(a) T AT HARY & MR T YWha: g &
(b) FAZL TS FHAR F IHHR & YW geafta &
(c) TG NI HIACY & AR I IWohd: IR TWFa: g&faa g
(d) ShATCRT AT ShATCRT & 3HR T IWahd: 3R NTHT: gafad g

74.

A newspaper boy purchases newspaper daily in the morning at a cost of Rs 1.50 per newspaper. He
sells them at a price of Rs 2.00 per newspaper. Unsold newspapers have no salvage value. What is
the desired service level?

(a) 0.67
(b) 0.75
(c) 0.25
(d) 0.50

Tsh IGER dTell &Y JoIg & 1.50 YT WEAR &l ST W TR TS § 198 3¢ 3.
2.00 9T TN T HIAT T I &l § | 36T9eh HEART T IS HEaROT Hod =18 & |
qifdd Aar-& 1 § ?

(a) 0.67
(b) 0.75
(c) 0.25
(d) 0.50

75.

A firm uses simple exponential smoothing method of forecasting with a = 0.2. The forecast
for the month of June 2015 was 600 units, whereas the actual demand turned out to be 550
units. What will be the forecast for July 2015?

(a) 620
(b) 610
(c) 590
(d) 580



HIS ATHT FIASSA = 0.2 & WA YA I Gl AT AHONHOT Tgfel

(FeFdel TFedeifRITe TG AYS) &1 3UANT AT & | ST 2015 A & foIvw
YaTeTATT 600 ShISTT T AT, Sidfch dEideh AT 550 Shrs folchell | S[ellS 2015 &
T qalegarT a1 gl ?

(a) 620
(b) 610
(c) 590
(d) 580

76.

A purchase manager using exponential smoothing method of forecast predicts demand of a
component to be 1000 units for June 2015 using a = 0.3. Actual demand of the component
turned out to be 1150. What is the noise level in this data?

(a) 150
(b) - 150
(c) 45
(d) - 45

IS HI-Jth JaloAT T TETAThT HFONIROT Ui (TFEUIATRITT THIGIT AUS)
T IIART F, a=0.3 & YA Fd §C ST 2015 & v R T T AT 1000
SIS Blol T YaTIHIT Sl § | Tceh I aredides AT 1150 o¥ehell |38 37hs &
@ FT JdeIdl TR (ASST ofddl) FIAT § ?

(a) 150
(b) - 150
(c) 45
(d) - 45

77.
A retailer for auto parts forecasts the demand for the spark-plugs at the rate of 1000 per month for
the next three months. The actual demands turned out to be 900, 1050 and 1120. Which one of the
following is the mean absolute deviation?

(@) —23.33 units

(b) 90 units

(c) 23.33 units

(d) 270 units



3iTel & YIS T IS GedT SR 397l il A & ToIv TTeh-Cefalt v AT 1000 el
A glel T YA Xl § | aredidsh Al 900, 1050 3R 1120 foehell | eifafEd & &
Pl AT T AL fAUeT fagel § ?

(a) —23.33 5FIS

(b) 90 FhTS

(c) 23.335FI5

(d) 270 3T

78.
The following table presents data of actual demand for a product for six months:

Period February | March April May June July

2015 2015 2015 2015 2015 2015
Demand | 850 875 880 1000 950 975
(unit)

Which one of the following will be the forecast for the product for August 2015 when a three-
period weighted moving average method with weights of 0.5, 0.3 and 0.2 is used?

(a) 980 units
(b) 977.5 units
(c) 975 units
(d) 972.5 units

Arrfaf@a aroll o #Agr & Y 3care fr areafas Afr g § -

Yy | wad | AW a7 S CRIES

2015 2015 2015 2015 2015 2015
AT 850 875 880 1000 950 975
(3T3)

fAefaf@a & & i a1 wh, 3P 2015 AT 3cure #T qATTAT gHET e il
3rafey dr e arfArT Ared fafer, 0.5,0.3 3 0.2 #RT & ATY, YFFd HT ST ?

(a) 980 SHIS
(b) 977.5 SHTS
(c) 975 IS
(d) 972.5 SIS



79.
What is inventory turnover?
(a) A ratio of average cost of goods sold to average inventory investment
(b) A ratio of average cost of goods sold to re-order point inventory investment
(c) A ratio of average cost of goods sold to economic order quantity value
(d) A ratio of average inventory investment to average cost of goods sold

HTST 3T &7 g ?
(a) S ITT ATl &I AT AT FI, I ATl AT & 3T &
(b) SF ITT AT AT AT AR FI, ARG g ATl fAder & g &
(c) S T ATl & AT ST &I, A HAA AR AH F 39 &
(d) 3ET AT fAder &1, 9 v Al A HET e F I §

80.
Lead time in the context of inventory management is the time:
(a) between receiving and consuming the items of a particular order.
(b) between receiving of items of two consecutive orders.
(c) between ordering and receiving of items of an order.
(d) when no stock is available.

ATT 99Y & T H 3Idr-ald :
(a) TRET AT HATC FT AT & IIed @led 3R 3ART 3THET 8l & ST T FHAATARTA
e
(b) & SHATITT HATCT T FST & UTT gled & &I T FHATITA &
(c) TorEY HATGer T FHl HT HAGA & N 3oTeh UIcd glel & ST Hl FHATHIS ¢
(d) I8 AT § SId P Teich 3UAeY gl g

81.
In the context of inventory management, interest is:
(a) ordering cost.
(b) carrying cost.
(c) shortage cost.
(d) overstocking cost.

AT Y & e &, ST FAT § 2
(a) SHATCET T AT
(b) I ST
(c) T BleT T eI
(d) 31fere & omrd



82.
A local retailer operates 300 days a year and expects to sell 10,000 cycles. He orders 500 cycles in
each order. What is the length of an order cycle?

(a) 18 days

(b) 20 days

(c) 15 days

(d) 17 days

HIS Tel FART a¥ # 300 feeT SAUR & 10,000 AISfehel STet i A& T & |98
TS HATCGLT H 500 ASThRl I HACLT &dl § | HACA-THh I AT Thdeil & ?

(a) 18 &=t

(b) 20 &=t

(c) 15 fe&=T

(d) 17 fe=T

83.
A store expects demand of a component to be 5000 units. The store operates 300 days in a year.
Annual carrying cost is Rs. 16 per unit, and ordering cost is Rs. 100 per order. Which one of the
following shows the Economic Order Quantity (EOQ)?

(a) 250 units

(b) 40 units

(c) 1600 units

(d) 500 units

HIS #3R HT gee T 5000 SHSAT T AT gled HI 38T ar & 1 6K a¥ 7 300 et
Gl & | a1 IWT oI &, 16 Fid $eh1$ 8, 3 HAIGA T &7 €. 100 Uil hATE & |
fafafaa & & #ia ar e e wacer Amr (Eoq) geufdar § 2

(a) 250 3PS

(b) 40 FTS

(c) 1600 SHIS

(d) 500 SHIS

84.
A manufacturing unit requires 200 units of an item costing Rs. 500 per unit. The annual carrying cost
is 20 percent of the purchase price. Each time an order is placed; firm incurs a cost of Rs. 25. Which
one of the following is the value of the total annual cost of inventory?

(@) Rs.1,100

(b) Rs. 10,000

(c) Rs. 100

(d) Rs.1,000



fordr fafaaAToT S A1 T 500 A SHS 9T aTell AT AG Hr 200 FHBAT HI TIIHAT
g | 3TN TW@IT oeTd &G HIAT 1 20 IfAd § | & IR I Dlg hIAGer fgar I §
SAMIR-G{ASST %. 25 HI AT 36T ¢ | feAfaf@d & & #la a1 wh, A1 #1 Fef anden
AeTd &l AT § ?

(a) ¥.1,100

(b) %. 10,000

(c) %.100

(d) ®. 1,000
85.
Which one of the following is the first activity of purchasing cycle?
(a) Communicating vendors
(b) Source selection
(c) Recognizing the need of procurement
(d) Inspection of goods

@ # & @l A T, @l I AT gell aaafy g ?
(a) Tashar3fl T gl &=
(b) I T
(c) 9TYUT &I TGIhdT I GgdTeladl

(d) FTer T fALreToT
86.
In the context of inventory management, a 95% service level means:
(a) 95% demand of a customer is fulfilled.
(b) a store stocks 95% of its annual demand of a product.
(c) quality of service is 95%.
(d) probability of 95% that demand will not exceed supply during lead time.

AT 9aY & TesT #, 95% TdT TAX I 4T 37T § ?
(a) TorElY aIgeR T 95% Afe @I G Fhar =T §
(b) fReY 873 & ey 3curg fr arf¥er AT FT 95% Teih ¢
(c) @ar T IOTAT 95% &

(d) 3 a1 & 95% WRSHaT & 33T el & R Fier, Ifcf F 3717 77 g ety
87.
Suppose that the purchase manager of a company determined from historical records that demand
for a product during lead time averages 100 ton. In addition, suppose the manager determined that
demand during lead time could be described by a normal distribution that has a mean of 100 ton and
a standard deviation of 5 ton. The manager is willing to accept a stock-out risk of no more than 3%.
How much safety stock should be held? (In case of need, use Z = 1.88)

(a) 5ton

(b) 9.40 ton

(c) 109.40 ton

(d) 19.40 ton




AT oNfoiT o Rl ueill & T Jaue o Ufaeriae el & Ig uiRa foear fe
3IAT FIT & GRIT fohdY 3curg &7 Aler 3id FT & 100 T @l § | 3T 37elmar, Al
ST o gt o I8 UTRA fohar & T 39T &l & GRIT AT & 100 T & ALY
AR 5 T & AT Gl Tl JHAHART S @RI afold fohdl T Thal & | TaUH FTieh
TcH gl FT T 30 &l dIR & ST 3% O 3% o &l | Wd?—iTgT&iTchh IE@T STl
ARV ? (HTARISATTER, Z = 1.88 HT ITANT )

(a) 5¢oT

(b) 9.40 CoT

(c) 109.40 TaT

(d) 19.40 ToT

88.
A hotel uses an average of 100 bottles of special ketchup each week. Weekly use of ketchup has a
standard deviation of 3 bottles. The manager wants a service level of 90% during lead time, which is
two weeks. Assuming the distribution of usage to be normal (Z = 1.28), what is the re-order point?

(a) 205.43

(b) 105.43

(c) 105.37

(d) 205.37

fhdY glead H Uer AV a9 & yfd geag 100 SIdeil T 3YTRT AT & | a9 &
Frcarfgess 39ATT ST Aldsh AUl 3 SIddl & | 9§49, 373IdT &l & e, S fo & geag
P E, 90% HT [T TR EAT & | 3TINT & §ead H JAART (2= 1.28) AT §T, LA

foig =Far &2

(a) 205.43

(b) 105.43

(c) 105.37

(d) 205.37
89.
Given the following information, what is the quantity to order (approximately)?
Average demand : 20 units per day
Desired service level : 97% (2 = 1.88)
Standard deviation of daily demand : 2 units per day
Amount on hand at re-order time : 50 units
Lead time : 3 days
Order interval : 13 days

(a) 210 units

(b) 250 units

(c) 285 units

(d) 235 units



AFTf T e & TR 9T, HATG AT AET (elF71879T) AT 82

3t Afer : 20 515 gfafceT
afad d@ar TR : 97% (Z = 1.88)
& AT &1 AT [Saers : 23prg gfafesT
YIS & A AR : 50 SIS
3T hlel : 3fee
SHATCRT 3Tl : 13 feat

(a) 210 SHTS

(b) 250 SHIS

(c) 285 SHTS

(d) 235 SHTS
90.

Which one of the following statements with regard to Bill of Lading is NOT correct?
(a) Itis a document acknowledging the receipt of certain specified goods for carriage
(b) It specifies the port of shipment, the destination and the condition under which the goods are
received for carriage
(c) It possesses some characteristics of a negotiable instrument
(d) It does not give its holder the title to the goods mentioned

ol 99 & aR A fArafaf@ad # & &l a1 v FUT GEF 78 ¢ ?
(a) TE gars & fow Fauy RAfafise Ao & wita-FFfa & arer geaes §
(b) $HH ANT-STETT & TeeloT, AT T AR, Al 577 a2 # gelig & forw area gam
¢, 39 fafader grar g
(c) 38H WhHY fa@d & Fo fAeeI0rT §1d &
(d) T8 4R &l 3HH Sfod@d AT W b UGl Tl T
Ignl'the context of forecasting, tracking signal is calculated as: (Where TS= Tracking Signal, RSFE=

Running Sum of Forecasting Error, AE= Average Error, MAD= Mean Absolute Deviation, MSE= Mean
Square Error, MAPE= Mean Absolute Percentage Error)

(a) TS= RSFE/AE
(b) TS= RSFE/MAD
(c) TS= RSFE/MSE
(d) TS= RSFE/MAPE




EAT & Hed H, LR Rt @1 Pfafad 9eR @ aiwfoa & s § (STt
Ts=gfhar f&aTeTer, RSFE= GaToTATeTeT FfE T aTfaiaral Tver, Ae= 3iad e, MAD=#ATET fagder
farerefet, MSE= Jf¢ @91 &Ted, MAPE= ATeY favder gfaerdar Jfe)

(a) TS= RSFE/AE

(b) TS= RSFE/MAD

(c) TS= RSFE/MSE
(d) TS= RSFE/MAPE

92.
In the context of inventory management, VED analysis stands for:
(a) Vital, Economical, Desirable.
(b) Vital, Economical, Difficult.
(c) Vital, Essential, Desirable.
(d) Vital, Easy, Difficult.

AT UaE o Hedl H, VED TaReivor &1 &7 7T § 2
(a) HAEcaqul, fFHRIAT, aME=T (aged, ShalAehe, SrRREe)
(b) Hgcaqul, fFwrRIc, S (aged, ShalAme, Bihaee)
(c) HAEcAYUT, HcATATh, TSI (ATSCel, THIRAA, TSI
(d) HEcaquT, T, HideT (ATSCe, Sail, BThehec)

93.

Consider the following information:

Sales : Rs. 2,00,000
Direct material : Rs. 60,000
Direct labour : Rs. 40,000
Variable overheads : Rs. 20,000
Profit : Rs. 70,000

Which one of the following is the value of fixed cost calculated on the basis of the above
information?

(a) Rs.1,30,000
(b) Rs. 10,000
(c) Rs. 50,000
(d) Rs. 80,000



fAefaf@d guar @ faer fifaT

fash : . 2,00,000
JcTeT ATHT : %. 60,000
TcgeT Aelgll %. 40,000
gRadi 3IRENTT . 20,000
CIE] : . 70,000

ﬁmﬁlﬁlﬁﬁﬁﬁﬁmu*,sqe}rd AT & IMYUR W IR Fad omerd &
Hed g ?

(a) ¥.1,30,000
(b) ¥. 10,000
(c) ¥.50,000
(d) ¥. 80,000

94,
A manufacturing firm incurs a fixed cost of Rs. 10,000. The variable cost accounts Rs. 10 per unit and
selling price is Rs. 15. Which one of the following is the number of units to be produced to break-
even?

(a) 2,000 units

(b) 400 units

(c) 1,000 units

(d) 1,500 units
15 fafador sgaam-ufassT €. 10,000 Fr T 91T 31ar § | 9RGdr arerd . 10 9fa
gehIS T & 3R fashg 1A ©.15 & | HeAfaf@d & & sl dr weh, omer-3remer foig &
T 3cfea $r S arelr swsar dr FEAT § ?

(a) 2,000 SHS

(b) 400 SHIS

(c) 1,000 SHIS

(d) 1,500 SIS




95.
Which of the following pairs of concept and feature is / are correctly matched?

1. AQ.L : A sampling plan for acceptance and rejection of lot with a percentage of
defects which the buyer is willing to tolerate
2. AO.Q.: Average percentage or number of defective items in the accepted lots

after carrying out inspection

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

HohoUetl 3R 3fAcrerr & fAefaf@d & @ S @/a gga @ér gafad gk »

1. AQL A Hel i 0EY gfaeradr arer T (diie) HI, T sl seiRd
e & fIT TR &, Tehd 3R 3EdDHd e & v wh
gfaadeT It

2. AOQ fAQeToT ket & de Tlihd o A aTfdaed Fel v T

gfaerddar a1 &

A foT e FT JAT W T IcR AT
(a) Shddl 1
(b) Shdel 2
(c) 13k 2a=t
(d) sTar 1, T & 2

96.
Under which one of the following methods of inventory valuation, the value of closing inventory will
reflect latest purchase prices?

(a) F.LLF.O.

(b) L.I.LF.O.

(c) Simple Average Method

(d) Weighted Average Method

ATl Aot &1 fAfaf@a ggfadt 7 @ fre ve #, 3dA A1 &7 qed 3dad [
Hod gaigar ?

(a) F.I.F.O.
(b) L.I.F.O.

(c) FreaeT 3Ea gefa
(d) TR 3T Tefa




97.
In the context of maintenance management, TPM stands for:
(a) Total Planned Maintenance.
(b) Total Preventive Maintenance.
(c) Total Predictive Maintenance.
(d) Total Productive Maintenance.

3TRETOT Gatel & Heey &, TPM T a7 31 § 2
(a) THY AISTeATSEG 3HeRET0T (STel Tolles Heeld)
(b) FHY fHaRF 3epeTor (Qea Mdfea #Ata)
(c) THT T 3He[ReToT (Slee Mfsfoea #Aesa)
(d) FHI 3cUGH IET0T (TIeel Wisteea #eata)

98.
‘Kanban’ is a Japanese word. The approximate meaning of ‘Kanban’ is:
(a) continuous improvement.
(b) card or a visible signal.
(c) error proofing.
(d) waste minimization.

‘SPledel’ Teh STUTAT AsE & | ‘Sledel HT loolehe 37T FAT & ?
(a) "Hdd {[‘ETIT
(b) IS AT FIS TIT Hehd
(c) Tfe AT
(d) 319V =eAOT (dF¢ FAfAATSAU)
99.
Which one of the following is responsible for downtime losses?
(a) Setup and adjustment
(b) Reduced speed

(c) Minor stoppage
(d) Start-up

AeIfaf@d & & Fid a1 T, T FH & THAT (S3ACSH) ST gl & foIT Scaierdr g2
(a) TUTY 3R FATAST
(b) T S IFAR
(c) oY HE-faRTH (ATSR FLIU)
(d) PE-YadeT (FLTE-319)




100.
A manufacturer of machine tools tested its product to assess the various maintenance performance
measures. 10 tools were tested for a running time of 100 hours. It was found that there were a total
of 30 failures during the testing phase. In total, 35 hours were lost on account of identifying the
problem and restoring it back to working condition. Which one of the following is the availability of
machine tool?

(a) 1.034

(b) 0.857

(c) 0.966

(d) 1.166

AT HSRT & v RAfAHATAT & 39 3cure 1, faffiest 3rqReror fasares A & 3irehored
F forw gfietor fFar | 10 3SRT &7 100 Het f HAE & o gdeqor fFar @ar | wdetor
WW*W%WW%WngéI@mW,HHMlﬁqsuldﬁ
3R W G ma%nﬁmﬁﬁssdﬁ@raﬁgélmaﬁﬁaﬁﬂﬁw, M
3SR Fr 3uersydr g ?

(a) 1.034

(b) 0.857

(c) 0.966
(d) 1.166

101.
All contracts made in the exercise of the executive power of the Union of India as per Article 299 of
the Constitution are expressed to be made by the:

(a) President of India

(b) Prime Minister

(c) Commerce Minister in the Union Cabinet

(d) Secretary of the Ministry/Department concerned

HIAUTT & 3eTede 299 % IR HRA TG HT HrAAIAFT AfFd FT JIT A gL A 975
gofr TfaeId forash ganrT fr 715 FHEr St § 2

(a) TR T IS

(b) TEITeT FHAT

(c) T & ARFsT & arforeg &
(d) FefeT FAT/[AHET &7 Ia

102.
Which of the following statements is NOT correct?

(a) The person making any contract on behalf of the Union of India is personally liable in respect
thereof

(b) The Government of India may sue or be sued by the name of the Union of India

(c) The executive power of the Union extends to acquisition, holding and disposal of property

(d) Parliament can impose restrictions on trade and commerce between one State and another if
so required in public interest



feIfafad FU=AT § & HiT a1 TEr o787 ¢ ?

(a) IRT TY & 3R T TTAST Pl aTell SATord 39k TaT H dAfodsd &I & gAY grar
€

(b) IR THR HRA I & o H dIG off ohdll AT 3H H H 30 WX dlG oAT ol
ThaT

(c) Tg Fr dRUIe AfFd &T TR dufcd & 3ok, URoT 3R g d& ¢

(d) THe Ueh T AR @R T & o R AR arfoiey &1 Fadadl W {AeteT
IERINT F gheir Ife THT FT dApigd & 98T &

103.
The Public Procurement Bill, 2012:

(a) has not been enacted.

(b) was passed by the Parliament but it has not yet come into force.
(c) isin force since July 2014.

(d) is awaiting Presidential assent.

ek UMY (JFY3RHAT) a8, 2012:
(a)mﬁaﬁaaﬁgaﬂ%
(b) EEE, EaRT TR & I A7 fohe 3180 Teh gecl e g3 ¥
(c) oS 2014 ¥ UTed &
(d) T Tegufa @1 @gAfa gdifad &

104.
General rules regarding procurement of goods by the Ministries and Departments are laid down in:

(a) General Financial Rules, 2005.

(b) the Rules framed under the Sale of Goods Act, 1930.
(c) Transaction of Business Rules, 1961.

(d) none of these.

HATeAT 3R TIHEN SaRT ATl & 3UTe (FFY3RHAC) & IR & FROT g fonarsd
sftefaa & 2

(a) ATYROT facdT f@g#, 2005 &

(b) AT fasra AT, 1930 & 3reha fafa et &

(c) PRER Fe¥deR @I, 1961 &

(d) 3oT1 & fohdll & oTar




105.
Which of the following is NOT included in the term ‘goods’ as defined in the General Financial Rules,
20057

(a) Raw material

(b) Spares

(c) Livestock

(d) Books for libraries

AYROT [AcdT 94, 2005 & 3l JAT-aRANT ereg ATl & A9 HeAfai@d & &
FIT &7g] 37T ?

(a) STl ATAIT

(b) HTARFT R (F3TH)

(c) tr%;u?r

(d) gERTerat & ferw fohdre
106.

Authorities competent to sanction purchase of goods for use in public service, except for the defence
services, are defined in:

(a) Delegation of Financial Powers Rules, 1978.

(b) General Financial Rules, 2005.

(c) DGS&D Manual.

(d) Specific orders issued by the Ministries/Departments concerned.

&Il FAT3MT 1 OIS &Y, olich AT & FEAATA & [T TG el aTel Aol T Hol TaleT
FLe aTel T TR & fohas aRfAfeaa fhar s=r § 2

(a) e afFaal &1 T e, 1978 (SRR 3% BRI dlay Fod,
1978)

(b) TYROT facdig 194, 2005 (Sielkel WIS &ed, 2005)

(c) DGS&D fATH-gIEdehT (Hg3rel)

(d) FATA/AIHRN gar’T SR fhw 7w fafrse meer

107.
Which of the following statements is NOT correct?

(a) Rate contracts are concluded by the Central Purchase Organization (DGS&D) for common
user items needed by various ministries and departments of the government on a recurring
basis

(b) Central Purchase Organization maintains an item-wise list of capable suppliers

(c) Thereis no scheme for enlistment of the Indian agents who desire to quote directly on behalf
of their foreign principals

(d) All items of handspun (khadi) textiles are reserved for exclusive purchase from Khadi Village
Industries Commission (KVIC) or notified units of the Association of Corporations and Apex
Societies of Handloom (ACASH)



farafaf@d # Fia a1 Fu @y 787 ¢ ?

(a) THR & fafdesr FIrerdr 3R THEI @R AMEdl YR W ATUROTE: SEAHATS I
STel aTell 37Tk HGl Sl &Y HIAGIV hald s TIGel (DGS&D) GART &I AT &

(b) ST T HTod FAY Yfcishcl 13T T AGIR FaAT FATT @ &

(c) R TARATIT T, ST o= Al anferent & 3T & e &7 G A= =
g, gag wa $r FIS FhA 76 §

(d) BT T Hdlg (WA &F T&ET H TN AS AT §T & WAl ATAGIANT AT (KVIC)
31rar g ferAr 3R NS wiAfaat & d@a (AcasH) Fr 3RGRT saeat @
g & fov smfaa &

108.
Goods can be purchased without inviting quotations or bids, under certificate to be recorded by the
competent authority, on each occasion up to the value of:

(a) Rs 10,000
(b) Rs 15,000
(c) Rs 25,000
(d) Rs 1,00,000

TeTH ISR garT FfRfAfET v & 3ideTd, frder HAT I T AT & TR
HICAT AT Sl AT fhw o @ler 1 Fhal & 2

(a) ¥. 10,000

(b) ¥. 15,000

(c) ¥. 25,000

(d) ¥. 1,00,000

109.
Goods can be purchased up to the specified limit on the recommendations of a duly constituted Local
Purchase Committee consisting of:

(a) Two members

(b) Two members with one of them being from another Government organization
(c) Three members

(d) Three members, at least one of them being a woman

fafafcse dar a& & AT o TF g 7 F Afed Th TR wlie afafa fr fwfet
TSI ST ToheT ¢ | I8 TRT Frd T S Sl gdr & 2

(a) & HEEAT &

(b) & Fe&AT A, AH & T fhdll 3T EIHRT IS & gl g

(c) el TeEAT &

(d) o7 HeEaT O, eTH ¥ &7 & SH Th Afgell &l




110.
Which of the following statements is NOT correct?

(a) A Ministry/Department can directly procure goods which are available on Rate Contracts
concluded by the Central Purchase Organization

(b) A Ministry/Department can directly procure goods which are otherwise available on Rate
Contracts concluded by the Central Purchase Organization (CPO) provided these are inspected
by the Quality Assurance Agency of the CPO

(c) A demand for goods should not be divided into small quantities

(d) The authority competent to sanction a purchase is determined with reference to the
estimated value of the total demand

fAeifafaa & aia ar suaT agr 787 &2

(a) IS FHATR/TIHTT 3 AT &I W IUTCA (FFYIR) H Tl &, S hold @le
IS SaRT T a1 & Hidar 9 3uerey g

(b) VS HATT/TIATT 38 AT BT WY 3UCA (FFGIR) H Hebel §, S =TT HAT
Tl HaS+T (CPO) GaRT &I a7 &Y Hidel TR Ul §, «RUct foh 3eTehl CPO o I[0TAT
3TRATET 3TTHIOT GaRT T {aTor foham ar=m gt

(c) ATST T ATIT T BIEY BIET AT H AT dleT AT ART

(d) @lIE @Y HY ool dTel HaTH IehT 1 TAEAROT el AT & FiFhidd Hed &
et & fRar S §

111.
Which of the following statements is correct?

(a) There are exceptions to the rule that the goods should be purchased by obtaining bids

(b) Tender notice should not under any circumstances be sent to the foreign embassies in India

(c) The minimum time allowed for submission of bids in response to Advertised Tender Enquiry
cannot be less than two months

(d) The number of suppliers in Limited Tender Enquiry should be more than four

farafaf@a & Fia a1 s g g2
(a) 3F I &, foh AT FI dlell 9Ied HX WAGT ST ThdT g, UG ¢
(b) e e forer of aRTPAfY & R & fagel Tsiggmarat r 767 Sei S
afew
(c) Ta=ie fAfder qBars & YcgeoRk & diell TEdd ael & T ogeIdd 01 A
ar ATE & HHA 18T &1 Fohdl
(d) AT Afder qode & qidedisi @ dear ar @ fts gel @i




112.
The invitation to bid through the Advertised Tender Enquiry should generally be adopted if the
estimated value of the purchase exceeds:

(a) Rs 10 lakh

(b) Rs 25 lakh

(c) One tenth of the budgetary allocation of the purchasing department
(d) One fifth of the budgetary allocation of the purchasing department

I &1 GieFehfold Hed fohaal & 36 gl 9T, 31 ak W A RAfder qode &
ATEIA T el o HF0T &1 JfT 37948 S anfee ?

(a) ¥. 10 T
(b) 3. 25T
(c) TIE = aTel TAHWT & Folc AT T gHar eear
(d) TE F aTel TAHWET & Fofe AIAdT &1 grgar fgear

113.
Two-bid system is generally followed:

(@) for purchasing high value plant and machinery of a complex nature.

(b) for purchases above Rs 1 lakh.

(c) where the tender comprises of separate technical and financial bids both of which may be
opened simultaneously, if deemed necessary.

(d) for auctioning the government property only.

cl-aTell JoTTell T 3MH R IR 3TaR0T foRaT STl ¢

() ST gapfd & I=a Hed TIF 3R MM H Tlig & fav

(b)%. 1 a@ T W A &g & 6w

(c) STet fafaer 37err-3re9T deeitehr 3R fAcdiT sSiferdl & §a1dr g, o1 air &, afe
3TaTeh FHST ST, ATY-TTYT & Grell ST difge

(d) el TIHRT Fufed Fr Arerdr & faw

114.
Which of the following statements is NOT correct in relation to purchase of goods through Single
Tender Enquiry method? This method can be adopted:

(a) If the purchasing department knows that there is only a particular firm which manufactures
the required goods.

(b) If the desired goods have to be purchased from a particular firm in case of an emergency.

(c) To ensure compatibility of the spare parts with the existing sets of equipment.

(d) If the desired goods are available locally.



T fAfder qodo 9gfd & Aad @ AT d& @l & do9U 7 Aefafad sue 7 @
PiT TT BT AT & ? I8 TEia IATS ST bl &
(a) ¢ W FL aTe [THET T SIaT § b O0AT His T & [Afse cgaag
gfaseT & S 38T At & AfAATT sear §
(b) T fordly 3T Feufa & 3mafara Arer forelt fafse cgaarr gfases & & @lier

ST &r
(c) 3UERT o TATT AT & @Y ATARFT il (FIW IER) I FEIT Gt
F & T

(d) If ifSa AT TURNT & F 3Tl §

115.
Which of the following statements is correct?

(a) A maintenance contract may be entered into with the supplier of the goods or any other
competent firm

(b) Bid Security is not the same as Earnest Money

(c) Bid Security lapses to the government after the completion of the bidding process if the
tender documents had been issued free of cost

(d) The successful bidder has to furnish performance bond for an amount equal to 35 per cent of
the value of the contract

ArAfofad su=l & & &l ar T&r g ?

(a) IS 3TRETOT HidET AT & Yiclehdl & TTY AT FhET 3T HETH TGH TicTSoleT o
qry Hr ST bl &

(b) SYelT gfcIsfcr €l 1€t & S & &

(c) afe e v for:gless Sl fvw arw &, & el wfhar & @ATCT & S 9T drel
Afasifd IRER S el Sueh

(d) Hhel STell ofeTal arel &1 HidaT & Hed & 35 Widd & SR A &l fFsaes
9T AT BT §

116.
Which of the following statements is correct?

(a) An item remaining in stock for over five years shall generally be considered surplus, unless
adequate reasons exist to treat it otherwise

(b) All consumable goods should be verified at least once every six months

(c) Physical verification of fixed assets should be carried out at least once every year

(d) Buffer stocks should not be maintained



frafafad suar 7 & Sl a7 @gr g 2
(a)ﬁaaérﬁmaaqW+¢T¢ﬁa€ﬁ§‘éaﬁéﬂawa‘kwmﬂqmﬁ
SiTeell, S de 76 30 3107 AT & 9died HROT Al o 8l
(b) T 3USIST TE3IT (FogAT I3H) FI T FH H FH & SAE H Th IR
[ERINcICINOINY
(c) TR gRAUTCTAT & YcIeT FATYT H & HH d¥ H Ueh g1 hAT ST IR0
(d) GRET $SR (ST Tieh) =Ll W Sl dMgT

117.
Which of the following statements is correct?

(a) Part payments cannot be made to the supplier of goods before the goods are dispatched

(b) The method of settlement of disputes that might arise from a contract should not be
mentioned in the contract document

(c) Holding pre-bid conference with the suppliers is a violation of the vigilance guidelines

(d) Departments cannot exchange the existing old items while purchasing the new ones

frafafaa su=t & Fia ar @@ § 2
(a) ATET & Yfciehcll I, HATT Aolel { Tger A AT FET fohaT ST Hepell
(b) TfdeT & g Tehel Tl faamer & fAvers dr ugfa dfaer georm # sfeaf@a g &r
ST TIfgw
(c) GfcTehct3l & AT dlell oeel § Y9 FFAS Al Hclehal ARG fAgidr &
HAHHATT §
(d) fasmmer 78 #el A wlied @AY facgAE Wl AT &1 fafawa 78 & dwd

118.

Surplus or obsolete or unserviceable goods should be disposed of by obtaining bids through
advertised tender or public auction if the assessed residual value of the goods is more than:

(a) Rs 2 lakh
(b) Rs 5 lakh
(c) Rs 10 lakh
(d) Rs 25 lakh

3TRRIY 372rar ool 3rar IRl a&g3it &1 , A= Wfder & Aregw @ sifen
UICd &Y 37T HidsTiolh AlClHA GaNT |, edel & Sl AMigT , Ifg ae3it &1 e
3afdrse Heg weh AR T @ 3w g | ag AR™aT afr &4 § 2

(a) &2 TG

(b) & 5T

(c) ¥ 10 oW

(d) & 25 o™




1109.
Losses not due to depreciation are grouped under certain heads. Which of the following is NOT one

of such heads?

(a) Losses due to theft or fraud

(b) Losses due to neglect

(c) Losses due to damage

(d) Losses due to unknown reasons

Il &Y, S HeTeM & HROUT F6l &, Hiaad MSl & AT FHgag hdr =7 § |
fFAfaiad & & Sl a1 v, var e oY T g ?

(a) IR IT HYUC & HRUT gHAAT

(b) 3UET & HRUT g

(c) &ifa & SRoT gIfarar

(d) 3T HROT § g% gTiarat

120.
Which one of the following statements is correct?

(a) The officer-in-charge of stores can declare non-moving items as obsolete at his discretion
if the book value of such items is less than Rs 50,000

(b) A committee consisting of the officer-in-charge of stores, the finance officer and a
representative of the Central Vigilance Commission has to be set up to declare items in

the stock as surplus

(c) Medicines that have outlived their shelf life should be returned to the manufacturing
company

(d) Physical verification of books must be done at least once in three years if the library has
more than twenty thousand but upto fifty thousand books

fAeIfafad FU=AT & & HiT a1 T T § ?

(a) $SR T FART TUSRY o AN ST alell TEIIHT AT 0= fqadeh W 3iord
HIYT Y Aehhl ¢ Il W a3t &1 fafed 77 ¥ 50,000 & F# g1

(b) Teleh H TEIIT I HRAY NT Il o AT $5R & qody 3Ry, foed
3fIFRY 3R FET TARAT I F T GAAT & BT = g4 arely Th
gfafa aifsa fr S g &

(c) 3oT gan3il I, foeTehr HERN-3g (Aeh-aT8h) FATCT &1 e &1, fafesTar
FHFJAT T 9T HL oAl AT

(d) T GEAPIT H 1H AR @ 31U foh Tad §olR deh TEeh &1 of HH &
HH el ¥ H Th dR 3oIehl Y87 FcAT9a1 a2 fham S a1figT




